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SA - H .G (3AH) - MBAY - BES %Ei HR=2
PsEAE Jzusg Bs JALY
200,000& =103l 2,000
02 2224 4| 2,100 2,100 0
02 d24| 1,100
PsEXE Il SWNEE H2(LPG)
110,000& *x10= 1,100
O3 A& &H| S XYl 1,000
PsEXS)z=nsa SA22
1,000,000 =104 & 1,000
206 M = Hl 3,200 3,200 0
01 X Z H| 3,200 3,200 0
SS)ssta W U ASH2
320,000& =103/ 3,200
405 XHA&HF S HI 3,800 0 3,800
01 XML 2 FF S| 3,800 0 3,800
OsEd) | sns2 nsAH 2 3,800
DLE= 1,000, 000& =104 1,000
>A3E 300,000 = 1CH 300
pEIT2AME 2,500,000 «1CH 2,500
SENsE 84 45,000 0 45,000
= 22,500
Al 22,500
402 SI2F X0l & 45,000 0 45,000
= 22,500
Al 22,500
02 QX2 A E X (0| & THS) 45,000 0 45,000
OsZEil=ssd 84 22,500,000 x2 04 &~ 45,000
= 22,500
Al 22,500
ZUEsY SEEA A 4,000 0 4,000
= 1,500
Al 2,500
307 2Iz2t0| & 4,000 0 4,000
= 1,500
Al 2,500
02 DI AAIE E X 4,000 0 4,000
OsZElN=ssd S I AtY
4,000,000 *1JH & 4,000
= 1,500
Al 2,500
SZENEE HE AME™ 180,000 0 180,000
= 90,000
Al 90,000
201 et d| 1,200 0 1,200
= 600




sEXA W
=& sy
SEXNY L BE CERED
SN HH-S(BN) - MBAY - B il HlnE2
Al 600
01 At 22l 1,200 0 1,200
O1 Let==EH| 1,200
DAHANON HEZFR Z20H AY 1,200
(O pN Rl 15,0002 402 600
= 300
Al 300
O+ & 2= M 600,000 » 14! 600
= 300
Al 300
206 M= Hl 2,800 0 2,800
= 1,400
Al 1,400
01 =8l 2,800 0 2,800
OHZEEHAA 24 Mz 7Y 700,000 *4H 2 2,800
= 1,400
Al 1,400
307 2I2+0 & 25,000 0 25,000
2 12,500
Al 12,500
02 QB AAHEE 25,000 0 25,000
OLXAZ0SLE EHE Y 2 S22 A
& 25,000,000& » 14! 25,000
= 12,500
Al 12,500
401 AlEHI 22 ThYI 16,000 0 16,000
= 8,000
Al 8,000
01 A& HI 16,000 0 16,000
OAHAMO HEFA &X 4,000,000 <44 £ 16,000
= 8,000
Al 8,000
402 QI2H X201 M 135,000 0 135,000
= 67,500
Al 67,500
02 QI EAISEZ (OIS ) 135,000 0 135,000
OYZAZ M8 A& L By &3
55,000,000& =14 55,000
= 27,500
Al 27,500
OsJte gldse WEE 435 HEAE
80,000,000 =14 80,000
= 40,000
Al 40,000
SN2 SEgIIsJl=gsdy 29 542,295 145,013 397,282
101 14 dl 79,615 20,713 58,902




M SENE D

M. & 0lEgY
Sel SENENY L B8 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
04 JI2ZtH 22 XNHEE =+ 79,615 20,713 58,902
OsdE2IS)=28MdH 29 X 29,670
>II23 52,6003 *101 247 12,993
>AWS 12,993,000 /12€ x43| 4,331
>EEH 52,600& *121x53 2,788
> ARG 52,600& *121x12& 632
> &M= AlH| 130,000 x 121 x12& 1,560
> nNEEXH| 120,000& =121 x12& 1,440
>EAZ 23,742,000 /128 1,979
>=0dZ2 23,742,000& *4.5/100 1,069
>DHLYEEH 23,742,000& *3.06/100 727
DEIINRQASLH 23,742,000 *6.55/100 1,556
>PIEEEH 23,742,000 %1.5/100 357
DA EE 23,742 ,000& *1/100 238
Osd2l38J=88HH 28 BEX(LA) 20,275
>II23 52,6003 *121 %207 10,889
> a2 52,6003 * 101 %21 x25] 2,210
>Es4 52,600& *101x43 2,262
> A 52,600& *121x10 526
> &M ZAlH| 130,000& x121x10& 1,300
D nNEE2XH| 120,000& =121 x10& 1,200
>=0OAZ 18,386,000& *4.5/100 828
>PALEEH 18,386,000& *3.06/100 563
DAJRAEE 563,000 *6.55/100 37
>PIEEE 18,386,000& *1.5/100 276
DATEE 18,386,000 «1/100 184
OHACCP = Xl 22| 29,670
>IIE23 52,6003 x 101 %247 12,993
> a3 12,993,000& /122 x43| 4,331
>EELE 52,600& *121x53 2,788
DAIE 52,600 *121x12 632
> &M Z A 130,000& x 11 x12& 1,560
> s 82X 120,000& =101 x12& 1,440
>EAZ 23,742,000 /12& 1,979
>=01d=2 23,742,000 %4 .5/100 1,069
>PALEEH 23,742,000 *3.06/100 727
DEIINISEE 23,742,000 +6.55/100 1,556
>PINEEE 23,742,000& *1.5/100 357
DAEE 23,742 ,000& *1/100 238
201 et A b 80,620 83,440 A2,820
01 AFR22t2ldl 40,700 42,240 A 1,540
O1 detx=2H| 18,500




M SENE D

M = Esy
Sel SENENY L B8 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
SIS =29 350,0002 * 128 4,200
PEMEIE B) FUESDS DD
20,000 x3Z *353 2,100
Dsd2ItE JI=28dH 228 MA
3,000,000 » 14! 3,000
DAUGSESEAMN E dLLEE 24
600,000& *10& 6,000
DHACCP SAIZel (HAE A U DMSHA
= 00,000& *43] 2,000
DHACCP Sl (ME, 2&H, <=H S)
=SR]l 120,000 103 1,200
O3 2d=¢ 16,700
DS&SIHSI=224dH 233 &2
E e 100,000& » 102! x23] 2,000
Ps&ESItE @I FEESHS TAE
490,000 *371 ot & x103] 14,700
O4 1=l 2,000
Delds, 2X0H, A2, EAl, OtA3
100, 000& x5Q1 *33] 1,500
> & gt 50,0003 x501+23] 500
o6 ¥tz 3,500
DsMEIESE BER0 22 & BHIHREAL
2 3,500,000& x13] 3,500
02 23224l 35,720 36,400 A 680
O1 2222 2 MA 25,720
DAAS HANEE o TSRS
400,000& x 14! 400
PEJIE Y Sa2 1,450,000& »12& 17,400
D&EJjotMete] thels===  100,000& 128 1,200
D HEE 2,700,000& » 14! 2,700
> off = Al bl 310,000& »12& 3,720
POIBUE DEE Y MEE
25,0002 12 300
O3 A& EHlI s Xt 10,000
DItES &4l sX2te 100,000& *60CH 6,000
DAEE A2 4,000,000& =14 4,000
03 A2 Z Hl 4,200 4,800 A 600
OsdsSItE FHES us 23 4,200
PUSIINM, &4, Rel= S M
300,000 x143| 4,200
206 M= Hl 14,000 14,000 0
01 = Hl 14,000 14,000 0
Os&ESIE)I=88dH 2292
900,000& »12& 10,800
Os&ESItE 2 ZEEs|sus Ma
20,0003 2021 43| «2 1t A 3,200




2N SENEY
Hu: =& o2y
Sel SENENY L B8 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 4,000 3,360 640
09 HALAHIEA S 4,000 3,360 640
OsSdSIE HLUESY ASHHE S FIHA
24 40,0003 #2521 +33] 3,000
OSMENTDE AT Ol B4 (5, 5)
50,000& 102! +23| 1,000
ANEHI &2 93,500 0 93,500
A& HI 93,500 0 93,500
OSUSIHBIN =2 EUE AMABHLE SA 93,500
> BXEE A 40,000,000& * 14| 40,000
>&EI| SA 3,500,000 » 14! 3,500
PsZAITA MSAE 20,000,000& x 14! 20,000
PEZATA P4 U FIIAL
30,000,000 =1CH 30,000
AHEES S| 270,560 23,500 247,060
AL E S H S 270,560 23,500 247,060
OsZdAx EHl ¢ 270,000
D> &2Z 2 ZJ](100kg) 90,000,000& =14 90,000
D> Ol A& M D1 (30001 # Ol &)
160,000, 0002 * 14! 160,000
DA ZHED 20,000,000 = 1CH 20,000
OXsII (=) 280,000 »2H 560
s&2 IS4 E EES 37,000 60,000 A 23,000
402 2I2HX =0 & 37,000 60,000 A 23,000
01 QPR A 2 (XHH KR ) 37,000 60,000 ~23,000
OsdESI24E ZFM N 37,000
DAl ZEM XA 15,000,000 *20H 2 30,000
DAHAS ZEM KA 7,000,000% 104 & 7,000
SHAD =AY 400,000 395,000 5,000
= 200,000
Al 200,000
402 RIZ2FXt20l ™ 400,000 325,000 75,000
= 200,000
Al 200,000
02 RIZEXt 2 AL EZ (OIS ) 400,000 0 400,000
OAME=2F 4S3 28 25 A Y
200,000,000& 1 £ 200,000
= 100,000
Al 100,000
O8t=8 NSEXE MASIIIIX &a JIsAlg
200,000,000& 1 £ 200,000
= 100,000
Al 100,000




M SENE D

BH: S& JASY
@ sEXNE JIgxd (&)
SA - BB B () - MM - BES Ol &t o San HmEET
sEXNE Jlgtxd 217,189 38,240 178,949
X 75,000
Al 142,189
SrsSits 67,189 38,240 28,949
201 Let24dH] 67,189 38,240 28,949
01 At 22/l 13,800 14,000 A 200
O1 gt==&Hl 13,800
PsgllsdE "JAd=sy" L2t
1,000& *1,0008+12& 12,000
DU ge S 200,000& +9CH 1,800
02 =24l 53,389 24,240 29,149
O1 3322 £ AA 14,758
PEYIEYE "AYSY s PBE
700& *1,0002 128 8,400
DEINERES 400,000& » 14! 400
PSS EEZE 500,000& *9CH 4,500
DS ZAZ 30,000 +9CH »23] 540
DASXHM(SSEE) 140,000 *30H*90/100 378
>ASIM(st2A8) 70,0002 *3CH*90/100 189
DASXHM(SSEE) 130,000 *3CH*90/100 351
O4 Xtg el 38,631
Da==E 4,474,000& «30H 13,422
DatEsAE 3,416,000 »3CH 10,248
>PsEAE 4,987,000& +30H 14,961
sEXNE It 4 150,000 0 150,000
Xl 75,000
Al 75,000
405 TtHabF S| 150,000 0 150,000
Xl 75,000
Al 75,000
01 AL EFFHSHI 150,000 0 150,000
OsdtE I8 &dl 2¢ 150,000
DEEIS=FI| 2 63 1104
150,000, 000& * 14 150,000
Xl 75,000
Al 75,000
HH2LA U (sENHJA D) 151,621 155,854 A4,233
= 15,000
Al 136,621
AHARIH(sEXE D) 112,177 107,510 4,667
= 15,000
Al 97,177
lHAIH (sEXE D) 78,157 75,590 2,567
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